Priorité des Opérations (F)

Nom: Date:

Effectuez chaque expression a 'aide de I'ordre correct des opérations.

(84+9)x4+3x2x(10+7) (3x(8+7))x2+5x(9+10)
8+7x4+4+2x(6x(3+10)) (2x(5+4))x7+34+10x6
(9% (4+3)x2+5+6x 10 74+9%6+2x(4x (10 +3))
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Priorité des Opérations (F) Réponses

Nom:

Date:

Effectuez chaque expression a 'aide de I'ordre correct des opérations.

(84+9)x4+3x2x(10+7)
=17x4+3x2x(10+7)
=17 x44+3x2x17
=68+3 x2x17
=68+6x17

=68+ 102

=170

8+7x4+4+2x(6x(3+10))
=8+7x4+4+2x(6x13)
=8+7x4+2x78
=8+28+2x78
=8+ 28 + 156

=36+ 156

=192

(9x(4+3)x24+5+6x10
=(9x7)x24+5+6x10
—63x2+5+6x10

=126 +5+6 x 10

=126 +5+ 60

=131460

=191

(3x(847))x2+5x(9+10)
=(3 x15)x2+5x (9+10)
=45x24+5x(9+10)

=45 x2+5x19
=90+5x19

=90 +95

=185

—
\S}

X(5+4))x7+34+10x6
=(2x9)x74+3+10x6
=18x7+3+10x6

=126 +3+10x6
=126 + 3+ 60

=129 460

189

74+9%x6+2x(4x(10+3))
—74+9x6+2x% (4x13)
=7+9x6+2x52
=7+54+2x52

=7 + 54+ 104

=61+ 104

=165

MathsLibres.com




